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Direction (01) : The given bar graph represents

the number of teachers in different weight
groups. Study the graph and answer the question
that follows.

fn;k x;k naM vkys• fofHkUu Hkkj lewgksa esa f'k{kdksa dh la[;k
dks n'kkZrk gSA xzkiQ dk vè;;u djsa vkSj uhps fn, x, ç'u dk
mÙkj nsaA
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1. In which of the following weight groups is
the number of teachers the maximum?

fuEufyf•r esa ls fdl Hkkj lewg esa f'k{kdksa dh la[;k
lcls vf/d gS\

CHSL 19-03-2020 (afternoon shift)
(a) 60-65 (b) 45-50
(c) 65-70 (d) 40-45

Direction (02) : Study the graph and answer the

following questions

xzkiQ dk vè;;u djsa vkSj fuEufyf[kr ç'uksa ds mÙkj nsaA
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 mobile games per day

2. How many students spend 5 hours or more
than 5 hours playing mobile games per day?

fdrus Nk=k çfrfnu eksckby xse osyus esa 5 ?kaVs ;k 5 ?kaVs
ls vf/d le; O;rhr djrs gSa\

CHSL 16-10-2020 (Morning shift)
(a) 46 (b) 14
(c) 8 (d) 6

DATA INTERTRETATION
(HISTOGRAM )

Direction (03) : The given graph shows the

weights of students in a school on a particular
day.

fn;k x;k xzkiQ fdlh fo'ks"k fnu Ldwy esa Nk=kksa ds otu dks n'kkZrk gSA
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3. The number of students weighing less than
50 kg is what percent less than the number
of students weighing 55 kg or more?

50 fdxzk ls de otu okys Nk=kksa dh la[;k 55 fdxzk ;k
vf/d otu okys Nk=kksa dh la[;k ls fdruk çfr'kr de gS\

SSC CGL Tier II-13 September 2019
(a) 44 (b) 40
(c) 55 (d) 30

Direction (04) : The given graph shows the marks

obtained by students in an examination.

fn;k x;k xzkiQ ,d ijh{kk esa Nk=kksa }kjk çkIr vadksa dks n'kkZrk gSA
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4. The number of students who obtained less
than 300 marks is what percent more than
the number of students who obtained 350

or more marks?
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300 ls de vad çkIr djus okys Nk=kksa dh la[;k 350 ;k
vf/d vad çkIr djus okys Nk=kksa dh la[;k ls fdruk
çfr'kr vf/d gS\

SSC CGL Tier II- 12 September 2019
(a) 80% (b) 28%
(c) 44.4% (d) 22.7%

Direction (05): Study the graph and answer the

question that follows.

xzkiQ dk vè;;u djsa vkSj uhps fn, x, ç'u dk mÙkj nsaA
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5. What is the ratio of the total number of
workers whose daily wages are less than Rs
500 to the total number of workers whose
daily wages are Rs. 600 and above?

500 #i;s ls de nSfud etnwjh okys Jfedksa dh dqy
la[;k dk mu Jfedksa dh dqy la[;k ls vuqikr D;k gS
ftudh nSfud etnwjh #i;s 600 vkSj Åij gS\

SSC CGL Tier II-11 September 2019
(a) 5 : 6
(b) 6 : 7
(c) 3 : 4
(d) 15 : 11

Direction (06): Study the given graph and answer

the question that follows.

fn, x, xzkiQ dk vè;;u djsa vkSj uhps fn, x, ç'u dk mÙkj nsaA

DISTRIBUTION (AGE WISE) OF PATIENTS BEING

TREATED IN A HOSPITAL IN A CITY
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6. The number of patients aged 10 or more
years but below 40 years is what percent
less than the number of patients aged 50
or more years but below 80 years ?

10 ;k vf/d o"kZ ysfdu 40 o"kZ ls de vk;q ds jksfx;ksa
dh la[;k 50 ;k vf/d o"kZ ysfdu 80 o"kZ ls de vk;q
ds jksfx;ksa dh la[;k ls fdruk çfr'kr de gS\

CGL 2019 Tier-II (15-11-2020 )
(a) 30.2 (b) 25
(c) 27.5 (d) 34

Direction (07 - 09): The given histogram shows

the height of the student.

fn;k x;k fgLVksxzke Nk=k dh ÅapkbZ n'kkZrk gSA
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7. The difference between the number of

students whose height is between 150-

155cm and the number of students whose

height lies between 175-180cm is:

mu Nk=kksa dh la[;k ftudh ÅapkbZ 150& 155 lseh ds
chp gS vkSj ftudh ÅapkbZ 175&180 lseh ds chp gS] ds
chp dk varj gS%

CPO 23-11-2020 (Morning shift)

(a) 3 (b) 8

(c) 9 (d) 7

8. What is the percentage of students whose

height is in the class interval 160-170?

(correct to the nearest integer)

d{kk varjky 160&170 esa ÅapkbZ okys fo|kfFkZ;ksa dk
çfr'kr fdruk gS\
(fudVre iw.kkZad ds fy, lgh)

CPO 23-11-2020 (Morning shift)

(a) 39 (b) 25

(c) 34 (d) 51

9. The number of students whose height is in

the class interval 170-175 is what percent

less than the number of students whose

height is in the interval 165-170?

(correct to the nearest integer)

d{kk varjky 170&175 esa ÅapkbZ okys Nk=kksa dh la[;k
165&170 ds varjky esa ÅapkbZ okys Nk=kksa dh la[;k ls
fdrus çfr'kr de gS\
(fudVre iw.kkZad ds fy, lgh)

https://t.me/mathsbyadityaranjan


CPO 23-11-2020 (Morning shift)

(a) 17.3%

(b) 11.5%

(c) 14.3%

(d) 19.5%

Direction (10): Study the graph and answer the

question that follows

xzkiQ dk vè;;u djsa vkSj uhps fn, x, ç'u dk mÙkj nsa
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10. The number of weeks, in which the cost of
living was160 or more but less than 190, is
approximately what percent more than the
number of weeks in which the cost of living
index was 200 or more but less than 220
(correct to one decimal places)

gÝrksa dh la[;k] ftlesa jgus dh ykxr 160 ;k vf/d
Fkh] ysfdu 190 ls de Fkh] mu gÝrksa dh la[;k ls
yxHkx fdruk çfr'kr vf/d gS ftlesa thou lwpdkad
dh ykxr 200 ;k vf/d Fkh ysfdu 220 ls de Fkh
(,d n'keyo LFkkuksa rd lgh)

CGL 2019 Tier-II (16-11-2020)
(a) 44.4 (b) 36.8
(c) 58.3 (d) 60.6

Direction (11): The given histogram shows the

frequency distribution of the speed of cars
passing though at a particular spot on a highway.
Study the graph and answer the question that
follows:

fn;k x;k fgLVksxzke jktekxZ ij fdlh fo'ks"k LFkku ij xqtjus
okyh dkjksa dh xfr ds vko`fÙk forj.k dks n'kkZrk gSA xzkiQ dk
vè;;u djsa vkSj fuEufyf•r ç'u dk mÙkj nsa%
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11. The number of cars with speed between
70km/hr and 80km/hr is what percentage
more than the number of the cars with
speed between 50km/h and 60km/h ?
(correct to one decimal place)

70 fdeh@?kaVk vkSj 80 fdeh@?kaVk ds chp xfr okyh
dkjksa dh la[;k 50 fdeh@?kaVk vkSj 60 fdeh@?kaVk ds
chp xfr okyh dkjksa dh la[;k ls fdruk çfr'kr vf/
d gS\ (,d n'keyo LFkku rd lgh)

CPO 23-11-2020 (Evening shift)
(a) 22.2% (b) 15.5%
(c) 29.7% (d) 28.6%

Direction (12): Study the given histogram and

answer the question that follows.

fuEukafdr vk;rfp=k dk vè;;u djsa vkSj mlds ckn fn, x,
iz'u dk mÙkj nsaA
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12. The number of persons weighing 55 kg or
more but less than 75 kg is what percentage
more than the number of persons weighting
80 kg or ore but less than 100 kg (correct
to one decimal place?)

55 fdxzk ;k vf/d ysfdu 75 fdxzk ls de otu okys
O;fÙkQ;ksa dh la[;k 80 fdxzk ;k v;Ld ysfdu 100
fdxzk ls de otu okys O;fÙkQ;ksa dh la[;k ls fdruk
çfr'kr vf/d gS (,d n'keyo LFkku rd lgh\)

SSC CGL MAINS 29 JAN 2022
(a) 66.7% (b) 68.4%
(c) 88.2% (d) 77.8%

Direction (13): Study the graph and answer the

question that follow:

fuEukafdr xzkiQ dk vè;;u djsa vkSj mlds ckn fn, x, iz'u
dk mÙkj nsaA
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13. The total number of neon lamps having
lifetime of 800 or more hours is
approximately what percentage more than
the total number of neon lamps having
lifetime of 400 of more hours but less than
800 hours?

800 ;k vf/d ?kaVs ds thoudky okys fu;kWu ySai dh
dqy la[;k 400 ?kaVs ls vf/d ysfdu 800 ?kaVs ls de ds
thoudky okys fu;kWu ySai dh dqy la[;k ls yxHkx
fdruk çfr'kr vf/d gS\

SSC CGL MAINS 03 FEB 2022
(a) 22.7% (b) 12.5%
(c) 32.2% (d) 31.8%

Direction (14-15): Study the graph and answer

the question that follow:

fuEukafdr xzkiQ dk vè;;u djsa vkSj mlds ckn fn, x, iz'u
dk mÙkj nsaA
14. In the given histogram, in which class

interval, the median marks lies?

fn, x, vk;r fp=k esa] ekfè;dk fpÉ fdl oxZ varjky
esa fLFkr gS\
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Marks of students 

SSC CPO 13 March 2019 (Morning)
(a) 30-45
(b) 45-60
(c) 60-75
(d) 15-30

15. In the given histogram, what is the mean
marks of the students, correct to one
deciaml palce?

fn, x, vk;rfp=k ds vuqlkj ,d n'keyo LFkku rd
Nk=kksa dk eè; vad D;k gS\
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Marks of students 

SSC CPO 13 March 2019 (Morning)
(a) 51.2 (b) 53.5
(c) 52.7 (d) 50.6

Direction (16-17) Study the given
histogram that shows the marks obtained by
students in an examination and answer the
question that follow

fn, x, fgLVksxzke dk vè;;u djsa tks ,d ijh{kk eas
Nk=kksa }kjk izkIr fd, x, vadksa dks fn[kkrk gS vkSj vkus okys
iz'uksa dk mÙkj Kkr djasA
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16. If the total marks obtained by students be
represented as a pie chart, then the central
angle corresponding to marks 250 or more
but less than 300 is :(correct to the nearest
degree)

;fn Nk=kksa }kjk izkIr fd, x, dqy vadksa dks ikbZ pkVZ ds
:i esa n'kkZ;k tkrk gS] rks 250 ;k vfèkd ysfdu 300 ls
de dk dsanzh; dks.k Kkr djsaA

SSC CPO 24/11/2020 (Evening)

(a) 88o (b) 128o

(c) 188o (d) 68o

17. If the total marks obtained by students be
represented as a pie chart, then the central
angle of the sector representing mark 200
or more but less that 300, is :(correct to
one decimal place)

;fn Nk=kksa }kjk izkIr dqy vad dks ikbZ pkVZ ds :i eas
n'kkZ;k tkrk gS] rks 200 ;k vfèkd vkSj 300 ls de
vadksa dk izfrfufèkRo djus okys {ks=k dk dsanzh; dks.k gS%
(,d n'keyo LFkku ds fy, lgh)

SSC CPO 25/11/2020 (Evening)

(a) 68o (b) 88o

(c) 154o (d) 128o

18. The number of students who obtained less
than 350 marks is what percent more than
the number of students who obtained 400
or more marks? (correct to one decimal
place)

350 ls de vad izkIr djus okys Nk=kksa dh la[;k 400 ;k
vfèkd vad izkIr djus okys Nk=kksa dh la[;k dh rqyuk eas
izfr'kr vfèkd gSA (,d n'key LFkku rd)
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SSC CPO 24/11/2020 (Evening)

(a) 100%
(b) 375.8%
(c) 385.7%
(d) 350%

MISSING DI 
Directions (01-05):- Study the following table
chart carefully and answer the questions given

beside.

funsZ'k (01&05) % fuEufyf[kr lkj.kh dk lko/kuhiwoZd vè;;u
djsa vkSj uhps fn, x, iz'uksa ds mÙkj nsaA

Year
Total 

Number
of Votes

% of Valid
Votes

Respective Ratio of
Valid votes of male
and valid votes of

female

2011      —              —                  5 : 3

2012      500           —                  5 : 4

2013     1000          38%                 —

2014        —           60%                7 : 5

2015     2500           40%                —

1. In 2011, the respective ratio of total
number of votes to valid votes was 5 : 4.
Number of valid votes of female in 2011
constitutes what percent of the total
number of votes in the same year?

2011 esa] dqy erksa dh la[;k dk oS/ erksa dh la[;k ls
vuqikr 5% 4 FkkA 2011 esa efgykvksa ds oS/ erksa dh
la[;k mlh o"kZ dqy erksa dh la[;k dk fdruk çfr'kr gS\
(a) 35% (b) 25%
(c) 15% (d) 30%

2. In 2014, if the difference between number
of valid votes of male and number of valid
votes of female was 150, what was the total
number of votes in 2014?

2014 esa] ;fn iq#"kksa ds oS/ erksa dh la[;k vkSj efgykvksa
ds oS/ erksa dh la[;k dk varj 150 Fkk] rks 2014 esa dqy
erksa dh la[;k D;k Fkh\
(a) 1845 (b) 1500
(c) 1660 (d) 1600

3. If the average number of valid votes in 2012
and 2015 was 635, what was the number of
votes given by female in 2012?

;fn 2012 vkSj 2015 esa oS/ erksa dh vkSlr la[;k 635
Fkh] rks 2012 esa efgykvksa }kjk fn, x, erksaa dh la[;k
fdruh Fkh\
(a) 270 (b) 135
(c) 120 (d) 150

4. The total number of votes increased by 50%
from 2012 to 2016. If 16% of the votes were
valid in 2016, what was the number of valid
votes in 2016?

2012 ls 2016 rd dqy erksa dh la[;k 50» c<+hA ;fn
2016 esa 16» er oS/ Fks] rks 2016 esa oS/ erksa dh la[;k
D;k Fkh\
(a) 205 (b) 250
(c) 120 (d) 140

5. In 2013, if the number of valid votes of
female was 100, what was the respective
ratio of number of valid votes of male and
number of valid votes of female in the same
year?

2013 esa] ;fn efgykvksa ds oS/ erksa dh la[;k 100 Fkh]
rks iq#"kksa ds oS/ erksa dh la[;k vkSj mlh o"kZ efgykvksa
ds oS/ erksa dh la[;k dk vuqikr D;k Fkk\
(a) 15 : 19 (b) 13 : 11
(c) 14 : 5 (d) 13 : 5

Directions (06-10) :- This following table is
related to profit and loss and some values are
missing. All the discounts are on the M.P. and
the profit are on C.P.

funZs'k (06&10)%& fuEufyf•r rkfydk ykHk vkSj gkfu ls
lacaf/r gS vkSj dqN eku foyqIr gSaA lHkh NwV vafdr ewY; vkSj
ykHk Ø; ewY; ij gSA

2280       —       2720         —          —

—      30%       —            —          —

—        —      2875        14%         —

2200        —         —           —   2640

—     20%     3800           —         —

A
rtic

le
 

Cost 
Price 
(Rs.) 

Profit 
(%) 

Marked 
Price 
(Rs.)

Discount 
(%) 

Selling 
Price 
(Rs.)

Jeans 

Shirt 

T-shirt 

Suit 

Saree

6. The ratio of discount % and profit % of the
T-shirt is 7 : 5. Find CP. of T-shirt?
(approximately)

Vh&'kVZ ij NwV izfr'kr  vkSj ykHk izfr'kr dk vuqikr
7% 5 gSA Vh&'kVZ dk Ø; ewY; Kkr dhft,A
(a) Rs. 2285 (b) Rs. 2398
(c) Rs. 2552 (d) Rs. 2248

7. C.P. of Suit is how much percentage less
than the M.P. of Jeans?

lwV dk Ø; ewY; thUl ds vafdr ewY; ls fdrus çfr'kr
de gSa\
(a) 21.2% (b) 19.1%
(c) 18.6% (d) 18.4%

8. If the M.P. of jeans is Rs. 140 more than
the C.P. of Shirt and the difference between
M.P. and S.P. of Shirt is Rs. 780. Find the
discount % of Shirt?

;fn thUl dk vafdr ewY; 'kVZ ds Ø; ewY; ls 140
:i;s vfèkd gks vkSj 'kVZ ds vafdr ewY; rFkk foØ;
ewY; dk varj 780 :Ik;s gks rks 'kVZ ij NwV izfr'kr Kkr
dhft,\

https://t.me/mathsbyadityaranjan


(a) 20.46% (b) 19.76%
(c) 18.86% (d) 17.56%

9. If the discount % and profit % of the Suit
is same. Find out the M.P. of Suit?

;fn lwV ij NwV izfr'kr vkSj ykHk izfr'kr leku gks rks
lwV dk vafdr ewY; Kkr dhft,\
(a) Rs. 2200 (b) Rs. 2500
(c) Rs. 2800 (d) Rs. 3300

10. If the ratio of the C.P. of the Jeans and
Saree is 4 : 5, find out the discount % of
Saree?

;fn thUl vkSj lkM+h ds Ø;ewY;ksa dk vuqikr 4% 5 gks rks
lkM+h ij NwV izfr'kr Kkr dhft;s\
(a) 10% (b) 12%
(c) 15% (d) 20%

Direction (11)  : The following pie-chart and table
show the percentage distribution of farmers in
5 states A, B, C, D & E of a country who claimed
insurance due to drought in the year 2017 and
ratio of males to females of the number of
farmers in states, respectively.

fuEufyf•r ikbZ&pkVZ ,d ns'k ds 5 jkT;ksa A, B, C, D vkSj E
esa fdlkuksa ds çfr'kr forj.k dks n'kkZrh gS] ftUgksaus o"kZ 2017
esa lw•s ds dkj.k chek dk nkok fd;k Fkk vkSj rkfydk jkT;ksa
esa] fdlkuksa dh la[;k esa iq#"kksa rFkk efgykvksa dh la[;k ls
vuqikr fn[kkrh gSA
Study the pie-chart and the table carefully and
answer the following question.

ikbZ&pkVZ vkSj rkfydk dk è;kuiwoZd vè;;u djsa vkSj
fuEufyf•r ç'uksa ds mÙkj nsaA
Note: Some date are missing in the pie-chart and
table, if required in any question, find the
missing data first and then answer the question.

uksV% ikbZ&pkVZ vkSj rkfydk esa dqN frfFk;ka xk;c  (missing)

gSa] ;fn fdlh ç'u esa vko';d gks] rks igys xk;c (missing)

MsVk •kstsa vkSj fiQj ç'u dk mÙkj nsaA
Total number of farmers who claimed

insurance in the year 2017 = 2,64,000

o"kZ 2017 esa chek dk nkok djus okys fdlkuksa dh dqy
la[;k ¾ 2]64]000

A 
24% 

B 
 

C 
36% 

D 
20% 

E 
 

Sizes Ratio of male of female in the farmers
 who claimed insurance in 2017

A

B

C

D

E

05 : 03

04 : 01

05 :

03 : 02

11. The number of farmers who claimed
insurance in state C exceeds the total
number of farmers (who chimed insurance)
in state E and state A together by 5280.
What is the percentage of farmers who
claimed insurance in state E?

jkT; C esa chek dk nkok djus okys fdlkuksa dh la[;k
jkT; E vkSj jkT; A esa dqy feykdj fdlkuksa dh la[;k
(chek dk nkok djus okys) ls 5280 vf/d gSA jkT; E
esa chek dk nkok djus okys fdlkuksa dk çfr'kr D;k gS\

SSC CPO 2019
(a) 15% (b) 25%
(c) 10% (d) 40%

Direction (12-15): The following pie chart

represents the percentage-wise distribution of

300 students of class X in a school in six

different sections A, B, C, D, E and F.

fn;k x;k ikbZ&pkVZ fdlh fo|ky; ds d{kk X ds Ng
vyx&vyx oxks± A, B, C, D, E vkSj F ds 300 Nk=kksa dk
izfr'kr&okj caVu fu#fir djrk gSA

A
20%

B
18%

C D
17%

 E
14%

 F
12%

The given table shows the number of boys

of class X in six different sections A, B, C,

D, E and F.

nh xbZ rkfydk d{kk X ds Ng vyx&vyx oxks± A,

B, C, D, E vkSj F esa yM+dksa dh la[;k n'kkZrh gSA

Section        A        B     C     D     E      F

No. of boys    36    26   34    28   ....     20

12. The total number of boys in sections A, B

and D together is what percentage more

than the total number of girls in sections

A, B and D together?
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oxks± A, B vkSj D esa feykdj yM+dksa dh dqy la[;k]
oxks± A, B vkSj D esa feykdj yM+fd;ksa dh dqy la[;k
ls fdrus izfr'kr vf/d gS\

SSC CHSL 06/08/2021 (Shift- 3)

(a) 20%

(b) 30%

(c) 18%

(d) 15%

13. If the total number of students in section

C is 57, then the total number of girls in

section C and D together will be:

;fn Hkkx C esa dqy Nk=kksa dh la[;k 57 gS] rks vuqHkkx
C vkSj D esa yM+fd;ksa dh dqy la[;k ------------- gksxhA

SSC CHSL 11/08/2021 (Shift- 3)

(a) 48 (b) 36

(c) 40 (d) 46

14. The difference between the central angles

of the sectors corresponding to the

sections A and F is:

vuqHkkx A vkSj F ds vuq:i f=kT;[kaM ds dsaæh; dks.k
ds chp dk varj Kkr djsa\

SSC CHSL 13/04/2021 (Shift- 3)

(a) 28.4° (b) 26.8°

(c) 38.8° (d) 28.8°

15. If in section E, the ratio of boys and girls

is 4 : 3, then the ratio of the number of

girls in section B to that of the number of

girls in section E is:

;fn oxZ E esa] yM+dksa vkSj yM+fd;ksa dk vuqikr
4 % 3 gS] rks oxZ B esa yM+fd;ksa dh la[;k dk] oxZ E
esa yM+fd;ksa dh la[;k ls vuqikr Kkr djsaA

SSC CHSL 13/04/2021 (Shift- 1)

(a) 15 : 8 (b) 13 : 8

(c) 13 : 9 (d) 14 : 9

Answer Key (HISTOGRAM )

(MISSING DI)

1.(a) 2.(b) 3.(a) 4.(a) 5.(a) 6.(c) 7.(c) 8.(c) 9.(c) 10.(c)

11.(d) 12.(d) 13.(b) 14.(b) 15.(d) 16.(a) 17.(c) 18.(c)

1.(d) 2.(b) 3.(c) 4.(c) 5.(c) 6.(d) 7.(b) 8.(c) 9.(d) 10.(a)

11.(c) 12.(a) 13.(d) 14.(d) 15.(d)
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